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Applications of Exponential Functions Pre-AP Algebra 2

1. How much money will you have in 8 years 1%0u invest $4000 at 3 ¥ % compounded quarterly?
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2. What interest rate do you need for a $5000 investment to double in 10 years?
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3. How much money do you need to invest at 2 % % in order to have $12,000 after 7 years?
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4. How much money will you have in 6 months if you invest $1000 at 3% compounded monthly?
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5. How much interest will you earn in 8 years if you invest $7500 at 4 % % compounded semi-annually?
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6. In 1910, the population of Math Valley was 15,000. If the population is increasing at an annual rate
of 2.4%, what was the population in 1965?
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